
 
 

 
aerolight-joining support 

Instructions for use 
Product code: AJ4 

 

RampCentre is a registered trademark of Enable Access, LU7 4UH.  We undertake a policy of continual review and 
research, which may lead to changes in product appearance and specification.  Date of Issue: 09 Dec 2020 

 Enable Access, Unit R, Cherrycourt Way, Leighton Buzzard, LU7 4UH, UK. 

 Enable Access Global Ltd, 27 Phibsboro Place, Dublin 7, D07 V20, Republic of Ireland 

For technical support or details on your nearest stockist please call 020 8275 0375  

Before use 

● Remove all packaging and ensure the product has not been damaged in transit.  Retain 
packaging. 

● Carefully read the instructions and warning texts before using the product 
● Keep instructions for reference 
● On each product you will find a label that shows the maximum permitted load. 
 

Contents 

● 1 x Support beam, 2 x legs, 2 x feet bars, 4 x adjustable feet, 4 x orange handwheels, 8 x 
M10 nuts, 4 x M8 nuts,  8 x M8x45mm bolts, 2 x 25mm bungs, 13mm spanner, 17mm 
spanner. 

 

To Assemble 

1. Attach the legs to the feet bars using nuts and bolts as shown (fig. 1) 
2. Insert adjustable feet into feet bars and secure using M10 nuts (fig. 2) 
3. Fix the support bar at the required height using the bolts and orange handwheels (figs. 3 & 

4) 
4. Push the two bungs into the top end of the legs (fig. 5) 
5. Fine adjustment can be achieved with the adjustable feet.  Tighten all fixings with the 

supplied spanners.  Ensure support bar is set at height that leaves both ramps at the same 
gradient. 

 
If you need to use the product at its lowest setting, it must be assembled slightly differently: 

1. Fix the legs to the feet bars with bolts and nuts through the lower hole. 
2. Then fix right through the support, leg and feet bar with bolts and orange handwheels 

(figs. 6 & 7) 
3. Finally fix through the top hole of the support bar with M8 x 45mm bolts and orange 

handwheels. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Fig. 1 

Fig. 5 

Fig. 4 Fig. 3 Fig. 2 

Fig. 6 

Fig. 7 



 
 

 
aerolight-joining support 

Instructions for use 
Product code: AJ4 

 

RampCentre is a registered trademark of Enable Access, LU7 4UH.  We undertake a policy of continual review and 
research, which may lead to changes in product appearance and specification.  Date of Issue: 09 Dec 2020 

 Enable Access, Unit R, Cherrycourt Way, Leighton Buzzard, LU7 4UH, UK. 

 Enable Access Global Ltd, 27 Phibsboro Place, Dublin 7, D07 V20, Republic of Ireland 

For technical support or details on your nearest stockist please call 020 8275 0375  

 

To Deploy 

To locate ramps, first place the bottom one down on top grip surface (fig. 8), then put the top 
one so it secures on support beam (fig.9) and rests firmly on the upper level. 
 
 

 

 

 

 

 

 

 

Maintenance 

● If the product becomes damaged in any way it should not be used (contact supplier/ 
manufacturer). 

● The product may be cleaned with normal cleaning products and left to dry before use. 
 

Warranty 

● The product carries a comprehensive 2 year warranty for normal use, conditions apply. 
● Use other than published/intended will void the warranty. 
● The product is not designed for permanent outside use and must not be fixed down. 
● Any modification/repair other than by manufacturer will void the warranty. 
● Products will not be repaired/replaced if the serial number plaque has been 

removed/replaced. 
 

Accessories Available (contact supplier/manufacturer to order) 

 Code: 
● Warning cone AWC 
● Wheelchair access sign AWS 
● Portable ramps 
● Other products available include platforms and handrail kits. 

Fig. 9 Fig. 8 


